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B. Com. (Part- II)
Term End Examination,  020-21
Group - B |
Paper : First
COST ACCOUNTING
Time Allowed : Tl_tree hours

Maximum Marks :

e : GH T & I I mﬁw#f%'aﬁ?
qE B
Note : Attempt all questions. AIZ ‘questions
carry equal marks.
FhT3-1 / Unit-1
1. mﬁ@mmwaﬁ%w@?ﬁm@m

w1 fag=1 wifsd |

What is Cost Accounting? Explain its objectives
and advantages.
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f@o 3 200 .20.00 e 4 100
fgo 18 300 1800 f@®o 10 50
femo 28 50 1500  f&&o 20 300

o fgo 30 100

From the fdl"l"o-\'vii;{g ‘particulars prepare stores
ledger account showing issue of materials for

the month of December under first-in-first-out
method :

. ) Repexpts s Issues |
Date’ " Qty. of  Rate ‘Date  Qty. of
Material (per kg) Material
(kg) T (kg.)

Dec. '3 200 77220000 © # “Dec. 4~ 100
Dec. 18 300 1800 Dec. 10 50
Dec. 28,50 ., ;- 15.00 .. . Dec..20 300

| Dec. 30 100
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FHE-11 / Unit-Il
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Write about the methods of wage payment time
and piece rate incentive scheme. '

e / Or
Suftem w % ? s ot R T s € 2

What are overheads? How are they classified.

THE-II / Unit-TIE

. TF FREA X a9 Y a5l § - WEF H 200
Tl IeTed WAl ¥ | SERA AN §H WHER
3

‘X’ :'Ys
() (%)
TeIE WA 12,000 10,000
T gl 8,000 5,000
o =93 1,000 ° 1,000

(i) FRET 6500 “ET%T[ (11) mﬁa‘q T 3480
e | W 331% wwﬁ'—rgﬁm%ﬁr
WWWW.me?
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A factory produces.200 units of each of the
commodities ‘X’ and “Y’, The cost of production

>4 o

S (%) (%)
Direct Materials 12,000 10,000
Direct Wages 8,000 5,000
Chargeable Expcnses 1,000 1,000

Overheads are :
(i) factory ¥ 6,500 and (ii) office ¥ 3,480.
If a profit of 331 % on cost is to be realised,
What would be the selling price of each
commodity per unit?

erer / Or

31 UM, 2017 ! W TEAT 345 & 47 =g
wmﬂﬁmm%fa@m—

eIt ¥ 94,000
we F 12,000
-y T 1,03,000
T =9 = T 6,700

S A, 2016 W STREN FIN A W Yoo
7 4,00,000 91 39 fafer 76 3% & ¥ 1,72,000
THE W EST S R TR w3 80% 9, 9
20% 3 FwE g ¥ T U g T T o

|t T HEI'T 4,500 o T e wig et
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The contract ledger of a company showed the

following expenditure on account of contract
No. 345 on 31% March, 2017 :

Material ¥ 94,000
Plant - 7 12,000
Wages ¥ 1,03,000
Establishment charges ¥ 6,700

The contract was commenced in Apnl, 2016
and the contract price was ¥ 4,00,000. Cash

received on account to date was ¥ 1,72,000
representing 80% of the work certified, the
remaining 20% being retained until completion.
The value of materials on hand was ¥ 4,500

and the work finished but not certified was ¥
4,000.

Prepare an account in respect of the contract
showing profit to date assuming depreciation on
plant at 10% per annum and state the proportion
of profit the company would be justified in taking
to credit of the statement of profit and loss.
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THE-1V / Unit-IV

. Ifem o R wed ¥ 7 T T uiEe

TN 93 weafier 3fel wfeg T #ife

What is operating costing? Prepare a transport
operating cost sheet with imaginary figures.
| RYAT / Or
‘ot g & e e ' D siR ¥ SiR v
F HIHR G TH TFR §—
ol ¥ 19,000, FW ¥ 10,000, 31EEY T 700,
9% = e g |

H 9 H

z z z

[ 8000 4000 2000
#H 4000 3000 1000
sfrem 600 500 500

12600 73500 3500
[EET R 51000 21000 10000
fasnl ™ sl & 40% 30% 20%

I % HgF & H sean oY RE TER
FA? Wi ot TR S SER IqEd S
@ & HH|
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Product A yields by products B and C and the
join expense of manufacture are :

Materials % 19,000, Labour ¥ 10,000, On cost
¥ 700, Separate expenses are as under :

A B C

¥ ¥ ¥
Materials 8000 4000 2000
Labour 4000 3000 1000
On cost 600 500 500

12600 7500 3500
Selling Price 51000 21000 10000
Estimated Profit on sale  40% 30% 20%

Show the manner in which you would apportion
the joint expenses of manufacture. Also prepare
accounts showing cost of each product.

THEE-V / Unit-V
. Freitea Wi TR PRl T | gt T
ferga, 8000 THTE Wi THE @ 1000 ¥ 80,000

A ——— il
ST & ?

The following data relate to a manufacturing unit
Sales, 8000 units @ ¥ 10.00 each F 80,000

Less : Variable expenses ¥ 64,000
Contribution "% 16,000
Less : Fixed Expenses ¥ 24,000
Loss 7 8,000

(a) What sales are needed to B.E.P.?
(b) What sales are necessary to eamn a profit
of ¥ 80007
JeEr / Or

=TT ergie Ao fada et % e %
IR F FRON H W FG) CF BRI
FawE - TR WISy |
State the reasons for disagreement between the

costing and financial results. Prepare an
imaginary reconciliation statement.

et . oREdTEie =Y ¥ 64,000
sfeeM "% 16,000
TN . R Y 7 24,000
g1 7 8,000

(a) wm-fa=e fog % foaq = ot oavas
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